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・必要地耐力　40kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下
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　（　0.42）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.09）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.91）


FLUDE YA~ 4—)L800-5-50

<EERIZET HFHE>

120
. ——1100
820 QV
Lw w3 PH
6L w2 ~]120
Lr
580
120
41 H]]]]IDW 2
HEDOAR 9
PA = 0.40x 17.0x 0.82°x 1/2
PH = 2x cos0. 0"
PV = 2x sin0.0°
PA = 0.40x 5.0x 0.82
PH = 2x cos0. 0"
PV = 2x sin0.0°
Mt = 2x 0.27
+ 2x 0. 41
Mr = 3x 0.06+ 2x 0.35
+ 10x 0. 41
+ 0x 0.70
e 5/ 1
Hr = 0.40x 15
+ 0
BEBREER 6/ 4
d = ( 5- 1/ 15
e = 0.35- 0.24
e/L = 0.11/ 0.70
omax ( 15/ 0.70)x 1.92
omin ( 15/ 0.70)x 08

o ~—~1Il ~~—~-—~1I ~~ 1 1 1 1 ui

TOE= 17.0, W))-tOEE 24.0
EEIR{%% 0.40, REH R 5.0
(TEFRBIEIEERANIZLD)
REFEAOLEFRE 0.400
BERETERO LT EZER 0. 400

50kN/
5kN/
1kN/

W = 30 W2 = 20 W3 = 9.8
PH = 2.3, PV = 0.0
PH = 1.6, PVV = 0.0
Mt = 1, Mr = 5
d = 024 e = 011
e/L= 0.15<1/6, omax = 41 < 50
SR EE 3.78 BIXEE 1.51
[] Q i
(at ) ( &% )
BEAEER 0.9 3.1 D10@300
( 100) (0.42)
BERRRE 0.2 1.1 D10@300
(0.50«H) | ( 20) ( 0.08)
K hRAITER
[EhRi% &R -1.2 -1.1 D10@300
( 200) ( 0.84)
Tmax E¥E{K 0.07 <0.70
JERR 0.04 < 0.70 av9Y-+ Fe21

kN (REFHERADEIESEN)
2kN  (PA DKFERLS)
OkN  (PA DERERS)

2 (REHFHEROLEFREEH)

2 (PN DKFERS)

0 (PN DERERLS)

1) (PH IZKBERBIE—A 2 K)

1) (PH IZ& BECBIE—A 2 B)

TkN-m (ZERBIE—A 2 F)

1) W1-W2 2k BERE—ADL)

4) W3 IZ&BERE—A)

0) (PV-PV’

5kN-m
3.78

(ZERE—F2F)
(Mr/Mt)

6) (EEEZEICKSBBER. u-ZW)

0) (ATEZBLEIC & 5EEIED)

6kN  (2BENEHN)
1.51 (Hr/ (PH+PH") )
0. 24m (BAERGE. Mr-Mt)/=W)
0.11m (miDEEEE. L/2-d)
0.15 <1/6
A1kN/m2 (R R#EMIE. (X W/L) - (1+6e/L) )

2kN/m2 (F/IMEHIE.

2K ZEBRE—AL)

(ZW/L) - (1-6e/L) )

—

—

D6-@300
0.93
D6-@300

0.18



yoshio
テキストボックス

yoshio
線

yoshio
線

yoshio
テキストボックス
100
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テキストボックス
・必要地耐力　50kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.18）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.93）
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・必要地耐力　60kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下




